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Question Number : 1 Question Id : 68019114064 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let the relations Ry and R, on the set X= {1, 2. 3. ..... 20} be given by
Ry={(x.y):2x-3y=2} and R, = {(x. y): Sx +4y=0}. If Mand N be the
minimum number of elements required to be added in R; and R,. respectively. in

order to make the relations symmetric, then M+N equals
Options :

68019155181. &

68019155182. 10

68019155183. 12

68019155184. 16

Question Number : 1 Question Id : 68019114064 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

OFET 9T X= {1. 2. 3. ..... 20} T GaY R, TUT R, TH UHR YRUIMNT T

[ R, = {(x.y): 2x—3y=2} IR R, = {(x.y): ~Sx + 4y =0} S ARG M 3R N
HUR: R, AR R, B SIS S ald SaRgs AdH Sagdl &I G § o
Jae T 99 9, 9 MV SR ©

Options :

68019155181. 8§
68019155182. 10
68019155183. 12

68019155184. 16

Question Number : 2 Question Id : 68019114065 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
x* 4+2x-15

- _XERis
“—4x+9

The function f(x)=

Options :

68019155185. both one-one and onto.
68019155186. one-one but not onto.
68019155187. onto but not one-one.

68019155188. neither one-one nor onto.



Question Number : 2 Question Id : 68019114065 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2

. X 42x =15 ;
Had f {-t‘]'=11+—1- xeERT

x*—4x+9

Options :

68019155185, Uh®! qUT TBIEH il |
68019155186, G ! [G7q STEBIED e |
68019155187, TG [ Uhd! -Tgl |

68019155188, -1 Al TP @] 3R - 3TBEH |

Question Number : 3 Question Id : 68019114066 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of triangles whose vertices are at the vertices of a regular octagon but
none of whose sides is a side of the octagon 18

Options :
68019155189. 16
68019155190. 24

68019155191. 56

68019155192, 48



Question Number : 3 Question Id : 68019114066 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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@1 g 1t Yol 8l . BT TH

Options :

68019155189. 16

68019155190. 24

A

68019155191. 56

68019155192. 48

Question Number : 4 Question Id : 68019114067 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let o. P be the distinet roots of the equation x> — (# =5t + 6) x + 1 =0, t € F.and
(o023 + 805 .

a, = o' + f". Then the minimum value of oy B
, 2024

Options :
68019155193, —1/4

68019155194. 1/4

68019155195, —1/2



68019155196. 1/2

Question Number : 4 Question Id : 68019114067 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT o, pHHIBROT X2 — (2 -5+ 6)x+1=0,t € %D [HA A § 3R

_ o n.opn 2 dynaz T 025
a,=a ﬁ%ma’—“mz# DA AF §

Options:
68019155193. —1/4
68019155194, 1/4

68019155195, —1/2

68019155196. 1/2

Question Number : 5 Question Id : 68019114068 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2
n
! | —+a
2
For o. p € 5 and a natural number n. let 4, =| 2r 2 # —[ | Then
n(3n—1
Jr-2 3 Q
2
Options :

68019155197. 0



68019155198. 2n

68019155199, 20+4p

68019155200, 40+2p

Question Number : 5 Question Id : 68019114068 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

(]

a. € 7 3R Ul I n & [, JFT 4, =| 2r

W 2dyp-45®
Options :

68019155197. 0

68019155198. 2n

68019155199, 2074[

68019155200, 40+2p

Question Number : 6 Question Id : 68019114069 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



2 f !
Letf: (—w.20) — {0} — E be a differentiable function such that /'(1)= lim cr_,f'l =],
.a

[ =

_ala+l) ) .
Then lim tan” " | — |+a” —2log,a is equal to
(—0 Z a

Options :

5 T
-+ —
68019155201. 2 8

S .7
R _|_ ke ol
68019155202. 2 4

3
s _|_ —
68019155203. 8 4

3
L _I_ et
68019155204. 4 8

Question Number : 6 Question Id : 68019114069 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Ol f:(-o0,0) - {0} - R TP Habei-ild Berd o8 UbR B 6 b

1 1 iy
f"(]] = lim a° f .]_ _dr lim “[f:r ) tan™"! [— |+ﬁr2 ~2log,a AR B
' a—x  \d aim o« a;
Options:
- .
= e i
68019155201. 2 &

3
68019155202. 2 4



3
e -|— —
68019155203. 8 4

3
bl + —_—
68019155204. 4 8

Question Number : 7 Question Id : 68019114070 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let. A= {n €[100, 700] N I7: # 1s neither a multiple of 3 nor a multiple of 4}. Then
the number of elements in 4 1s

Options :

68019155205. 280
68019155206. 290
68019155207. 300

68019155208. 310

Question Number : 7 Question Id : 68019114070 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O A4 = {n € [100, 700] N 17: n T A3 PIIUGI § AR TSI 4 BTG g} A4

3Haual &I = §

Options :

68019155205. 280



68019155206. 290
68019155207. 300

68019155208. 310

Question Number : 8 Question Id : 68019114071 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: 5,1'3 5111[1—1[]._ x#0
it f [X}TJ‘- : . then
10 saape=i)

LS

Options :

68019155209.f“"(0}::0

)
68019155210. ™/  “T

68019155211.f"(m:l

68019155212, ./ =

Question Number : 8 Question Id : 68019114071 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( 1. (1
Ert:c:f'[ ) 4r 5111[;(]+ x=0 i
- A- =. _-F :
0 L, x=0

Options :

68019155200, / "(0) =0

o
{222
68019155210, ‘%) 27

68019155211. ’{ "({]] =1

2".
68019155212, aﬂJ

Question Number : 9 Question Id : 68019114072 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The interval in which the function fix) = x". x > 0. is strictly increasing is

Options :

)
68019155213, L¢

7
68019155214, . ¢

—

=]

68019155215. Le™  /

68019155216, (0. =)



Question Number : 9 Question Id : 68019114072 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T% HRIe, FoH B fix) =%, x> 0. FRR a7 8. 8

Options :

)
68019155213, L¢

tr
68019155214, ¢

b
.

68019155215, Le?

68019155216, (0. =)

Question Number : 10 Question Id : 68019114073 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let a variable line of slope m > 0 passing through the point (4, —9) intersect the
coordinate axes at the points 4 and B. The minimum value of the sum of the
distances of 4 and B from the origin is

Options :
68019155217. 10

68019155218. 25

68019155219. 15



68019155220. 30

Question Number : 10 Question Id : 68019114073 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T GGl m > 0 AT 6 (4, —0) W IO el IS oR ¥l [axiid Sfefl &l
Tﬁﬁg 3R B W Ui Bl 8| Jd 65 Y 4 3R B DI gRUl & TN DT GaH
o=

Options :

68019155217. 10

| ]
n

68019155218.
68019155219. 15

68019155220. 30

Question Number : 11 Question Id : 68019114074 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TE,JJ4

J

D
0 (0053.1: +sin3x)

7 S
COS X SIn X

X .
18 equal to

Options :

68019155221. 1/3

68019155222. 1/6



68019155223, 1/9

68019155224, 1/12

Question Number : 11 Question Id : 68019114074 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TE,JJ4 2 S
I cOs X sIn X

5 dxw%

0 (0053:\- +8in° x)
Options :

68019155221. 1/3
68019155222, 1/6
68019155223, 1/9

68019155224. 1/12

Question Number : 12 Question Id : 68019114075 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the area of the region enclosed by the curves y=3x. 2y =27 — 3x and

y=3x- xx be A. Then 104 1s equal to
Options :

68019155225, 154



68019155226. 162

68019155227. 172

68019155228. 184

Question Number : 12 Question Id : 68019114075 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HFI D] y=3x. 2y = 27— 3x 3R y=3x—xvx IR A1 FBA 4 2. A
104 &R g

Options:

68019155225, 154
68019155226. 162
68019155227, 172

68019155228. 184

Question Number : 13 Question Id : 68019114076 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- . i< 3 dy |
Let v = y(x) be the solution of the differential equation (| +x2]5—}+ p=g@l ¥
L 5 R
(1) =0. Then y(0) 1s

Options:

V{ mf2 _
68019155229. 31 )

Yes

:Yes



68019155230, 8¢ Y}

68019155231, 2{ '“ﬁjj

_ 2
68019155232, 4{] G

Question Number : 13 Question Id : 68019114076 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HFLy = y(x) 3G FHIBR () ﬂ%ﬂ- T (1) = 0 BTEA . A 3(0) B

Options :

2
68019155229. 2(‘r J

2
68019155230, 4(‘r J

l o2
68019155231.5{L_Ef )

l ¥ JIII’:.
68019155232.3{]_L1 )

Question Number : 14 Question Id : 68019114077 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Let y = y(x) be the solution of the differential equation

Loy 3 . - )

(2xlog, -va +2y="log,x, x> 0 and y(e 1} = 0. Then. v(e) 1s equal to
[Fen X

Options :

2

e

68019155233.

3

68019155234, ¢

3

68019155235, Ze

Ly]

68019155236. 3

Question Number : 14 Question Id : 68019114077 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ﬂFﬂy=yﬁ}$¢ﬂﬂHﬁhﬂwfhmhﬂ%+h:ém&4.x}DHm}&4}=Daﬂ

T . dl y(e) W& -

Options :

o |k

68019155233.

3

68019155234, «¢

3

68019155235, Ze



L
Ly]

68019155236.

Question Number : 15 Question Id : 68019114078 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A circle 1s inseribed in an equilateral triangle of side of length 12. If the area and
perimeter of any square inscribed in this circle are m and n, respectively, then

m + 1~ 18 equal to
Options :

68019155237. 408
68019155238. 312
68019155239. 414

68019155240. 396

Question Number : 15 Question Id : 68019114078 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS 12 B Yol & ot goarg Bys & u oidgd ¢ afe 59 g0 & Siarid
ot avf &1 EAEE g UNHY Han: mﬁn%.t_‘ﬁm+MEW%-

Options :
68019155237. 408

68019155238. 312

68019155239. 414



68019155240. 396

Question Number : 16 Question Id : 68019114079 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. . . . i .
Let C be the circle of minimum area touching the parabola y = 6 — x~ and the lines

y=+3 ¥ Then, which one of the following points lies on the circle C?

Options :

68019155241, (2. 4)
68019155242, (1. 2.
68019155243, (2. 2

68019155244, (1. 1)

Question Number : 16 Question Id : 68019114079 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HHT ¢ a0 AT BT 1S 3 & 6l TRaeh y =6 -2 SR 3@y =3 |x| &t
w2l X g1 3 | 79 FEfifad 3 9 o fag ou c R Rya g

Options :

68019155241, (2. 4)

68019155242, (1. 2)



2.2)

68019155243, (2.

68019155244, (1. 1)

Question Number : 17 Question Id : 68019114080 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

: - X— Hld  Eo . r=1 z-9
The shortest distance between the lines = : 3_2 +?b == 2 and X: 1.2 | e :
= : 3 =3

15

Options:

68019155245, 63
68019155246 53
68019155247, 43

68019155248, 83

Question Number : 17 Question Id : 68019114080 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y .T;:’::y+15=z—'}} 31%]? x+1 z_vl—l =z_—;} ?ﬁaﬁaaﬁwaﬁ%-

=i 3 2

Options :

68019155245, 63

68019155246, 53



68019155247, 43

68019155248, 83

Question Number : 18 Question Id : 68019114081 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The mean and standard deviation of 20 observations are found to be 10 and 2.
respectively. On rechecking. it was found that an observation by mistake was
taken 8 instead of 12. The correct standard deviation iz

Options :

68019155249. 1.8

68019155250, ¥3.96

68019155251, v3.86

68019155252, 1.94

Question Number : 18 Question Id : 68019114081 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

20 T&fUT &1 A1eY 3R O faga HaY 10 3R 2 T 9dT | SIeRT @i 8
%W%W%Wﬁaﬁﬁ&:mﬁimsﬁﬁmwweﬁw
ICERGEE

Options:

68019155249. 1.8



68019155250, v3.96

| Ty
68019155251, v 3.86

68019155252. 1.94

Question Number : 19 Question Id : 68019114082 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

It A(3.1,-1) H|FE s l~‘| (2,2,1) and ,U!f
(31.-1). B 3:3-3): €22, 15373

. 3
quadrilateral ABCD, then its area 1s

_] 5 :
S | are the vertices of a
J

Options :

68019155253, 2+/2
68019155254
68019155255, 3

68019155256. 3

Question Number : 19 Question Id : 68019114082 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ul 4(3,1,-1) ﬂ|% % ]1 C(2.2,1) 3R D[ =
SHD] 4B © -

Options:

]?ﬁjﬁﬁLABii}ﬁﬁ?ﬁﬁ?%fﬁ

68019155253, 2+2

68019155254. 3

68019155255, 3

68019155256, 3

Question Number : 20 Question Id : 68019114083 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A company has two plants 4 and B to manufacture motorcycles. 60% motorcyeles
are manufactured at plant 4 and the remaiing are manufactured at plant B. 80% of
the motorcycles manufactured at plant 4 are rated of the standard quality. while
90% of the motorcycles manufactured at plant B are rated of the standard quality.
A motoreycele picked up randomly from the total production is found to be of the
standard quality. If p 1s the probability that 1t was manufactured at plant B. then
126p 18

Options :
68019155257. 56
68019155258, 64

68019155259. 66

68019155260. 54



Question Number : 20 Question Id : 68019114083 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS DHUHI & T HIEIHIGIehd g & o7 &1 997 4 R B 1 60%
HeyIg[d Bl Jded §49.4 H GUT 9N ] Iled YA B H gl o | S 4 H
A& HIeHIGIbal & 80% DI TP urawl o1 Al T @1 |l &, Fald
T3 B T IIGd HISHIR(dha P 90% DI TP TUIa B Sl § @M olldl g |
[l HiexaTR(ova ] Pal IcdTe & 9 Ure=sd] 91 &lldl & a4 38 Il §ldl &
%a%ﬂwgﬂm?ﬂaﬁ%l afe g9% 447 B T IANEd §1H &1 Wil p 6. I
126p

Options:

68019155257. 56

68019155258. 64

68019155259. 66

68019155260. 54

Mathematics Section B
Section Id : 680191240
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20



Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 680191330
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 21 Question Id : 68019114084 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Let xy. X. X3. X4 be the solution of the equation 4x™ + 8x° — 17x* — 12x+9 =0

. -
and (4 + xﬁ J(4 e ;,;22 ] (4 + ;.;_*;f ) [4 g xi ) = % m - Then the value of m 13

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 21 Question Id : 68019114084 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

AT xy. Xy x3. Xy THIERU 4x* + 8 — 172 — 12x + 9 =0 P §aA § aul
(4+r| )(4+13](4+ x )(4+ r4)=—m-%| dmergEe

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 22 Question Id : 68019114085 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
LetaPfv=45: 0, B,y € 5. If x(a, 1, 2) + (1, B. 2) +2(2. 3. v) = (0. 0, 0) for some
x, ¥z €E B, xyz # 0, then 6a + 4f + v is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 22 Question Id : 68019114085 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HiTapy=45:a.B.v € Rl Eﬁé‘@m zeR. nz#0, & X
foTE x(e 1, 2) +3(1. B. 2) + 2(2. 3. 7) = (0. 0, 0) B, T 60+ 4p + v TRIER &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 23 Question Id : 68019114086 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
If the second. third and fourth terms in the expansion of (x + )" are 135, 30 and

Ly respectively. then 6(n° +x° + 1) is equal to

3
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 68019114086 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

afe (x +y)" & R H felia, el 9 agd ue oA 135, 30 AT €.l
6(}13 + 37 +v) &eX[dY %

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 68019114087 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Let the first term of a series be Ty = 6 and its A8 term L =30 S0 6. r=2.3

e . N b W -
....... n. If the sum of the first n terms of this series 1s - (ar —12n+ _%L.r] [4-{1” -5-3" + i].

3

then # 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 68019114087 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
O ot AU BT YA UG 7, = 6 AU FHDT -l UG T, =3 T,_; + 6", r = 2. 3.

....... H%| Hﬁ%ﬂ@ﬂﬁ%ﬂuﬂ n UGl &1 gl %(”2 ~12n+39)(4-6" 53" +1| % GIE
WER T

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 68019114088 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1/ _II.-ff
! [1—,1' ) oy 10 .
O - . k& 1. Then the value of E - - 1s equal to

Let 1=




Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 68019114088 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

I ? K

[ 1—x ) dx 10 I
AT 5, = JU-[ o e N Bl dl )
J{}(l—x?] dx k=17

&1 O TER ©

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 26 Question Id : 68019114089 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let Ly. L, be the lines passing through the point P(0. 1) and touching the

parabola 9x* + 12x + 18y — 14 =0. Let O and R be the points on the
lines Ly and L, such that the APOR 1s an 1sosceles triangle with base OR. If the

slopes of the lines OR are m; and m,. then lﬁ(mF +m§) 15 equal to

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 26 Question Id : 68019114089 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AT fei=g P(0. 1) 9 7oA aTeil U1 0RAT 922 + 12x + 18y — 14 = 0 BT WX
B AICl @MY Ly, L, 51 AFT @IS L, UL, R Q TUTR T UPR [dg 5 [

APOR U@ GHlgaTg BrYdl ¢ foreT 3MUR R §1 3fe T@1sil Or &1 Haurdny m,
ﬁ?m_«; %’ al l{:(.mlz +m§] W%—

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 27 Question Id : 68019114090 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let a conic C pass through the point (4. —2) and P(x. ¥). x = 3. be any point on

C. Let the slope of the line touching the conic C only at a single point P be half the
slope of the line joining the pomnts P and (3. —5). If the focal distance of the point
(7.1) on C 1s d. then 12d equals

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

1

Question Number : 27 Question Id : 68019114090 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AHI 1% 2P € 165 (4. -2) Y BIPR 1A & AU C R B 195 P(x. y). x> 3 B
OF1 Y% ¢ &1 H1F U9 f65, P IR WY & aTell 31 &1 Havrdl fag 2 aul
(3.—5) I T arell 31 &1 Yqural i el 51 gl ¢ )R Ryd fag (7. 1) #i
Mg d8. 12 RER T

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 28 Question Id : 68019114091 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let P be the pomt (10, -2, —1) and ( be the foot of the perpendicular drawn from
the point R(1. 7. 6) on the line passing through the points (2. —5. 11) and
(—6. 7. =5). Then the length of the line segment PQ 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 28 Question Id : 68019114091 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

O fag P & Fa=nie (10, -2, 1) & aul famgaft (2, 5. 11) R (-6.7,-5) ¥
{;mwaﬁﬁmmﬂ%r—gﬂ{l 7.6) Y STd U T4 H1UIE O §. ﬂTW@PQﬁ
aEE KeRe

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 29 Question Id : 68019114092 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let g =2i-3j+4k, b=3i+4j-5k and a vector ¢ be such that
$ [+ = o, ’ a — — ot
ux[h-;-]1 bxe=i+8j+13k.If g.¢ =13.then (24— b - ¢) 1s equal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 29 Question Id : 68019114092 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



_} .y .ﬁ. Y —* ey Fas M =
AT a=2i-3j+4k. b =3i +4j -5k UGN ¢ SUUPR & [
ux[hvc_l-f bxe=i+8f+13k %‘I?IIT?T :. I =|3.Eﬁ(24 ??)W%

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 30 Question Id : 68019114093 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

R s ol g x T ;
For n € N. if cot 13 + cot™14 + cot™15 + cot ln = % then # 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 30 Question Id : 68019114093 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘;?' =
neM %%Q Zﬁ—a cot™13 + cot 14 + cot™ 15 + cot In = E Tl IR %

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Physics Section A
Section Id : 680191241
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 680191331
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 31 Question Id : 68019114094 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. m
Four particles 4. B. C. D of mass —. m. 2m. 4m. have same momentum.

respectively. The particle with maximum kinetic energy 1s :
Options:

68019155271. 4



68019155272, B
68019155273. C

68019155274, D

Question Number : 31 Question Id : 68019114094 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= m, 2m qUT 4m GOUHT & HHI: 4, B, C T D IR HUI BT Ha'T T FHH & |
e TSt Sl &1 Bl B

Options :

68019155271. A
68019155272. B
68019155273. C

68019155274. D

Question Number : 32 Question Id : 68019114095 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A light string passing over a smooth light pulley connects two blocks of masses m

. : il ;
and m, (where m, = my). If the acceleration of the system 1s Nk hen the ratio of

m .
the masses — 1s:

i)



Options :

68019155275. v2 +1

68019155276, V2 -1

68019155277, 2 —1

|+ \.-"',E

63019155278, 5 — |

Question Number : 32 Question Id : 68019114095 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ﬁﬁ‘mﬁm]‘qﬁ ;;zzﬁﬁ@aﬁaﬁaﬁﬁ?ﬁﬁwaﬁﬂwwww
foret @ 1ot 81 3 5 g o1 w@rul - 81 99 ST SouHEl BT U

V2
E % {ﬁ_":ﬂ % My = My )

Options :

68019155275. v2 +1

68019155276, V2 -1

68019155277, ¥2 —1

68019155278.



|+'~1.-"I’,E

Question Number : 33 Question Id : 68019114096 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To project a body of mass m from earth's surface to infinity, the required kinetic
energy 1s (assume, the radius of earth 1s Rg. g = acceleration due to gravity on the

surface of earth):

Options :

68019155279, ~MgRg
68019155280, 4MgRg
68019155281, 1/2MmgRg

68019155282, MER g

Question Number : 33 Question Id : 68019114096 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0% m So0HM & [US S gdl 98 ¥ 3F ad b o (o8 HTaRged ol
ol gt

(TRl R Gt 1 3. g= g2t e IR o @RI ©):

Options :

68019155279, ~"MgRg



68019155280, 4MgRg

68019155281, 1/2MmgRg

68019155282, M&RE

Question Number : 34 Question Id : 68019114097 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A train starting from rest first accelerates uniformly up to a speed of 80 kn/h for
time 7. then it moves with a constant speed for time 3z. The average speed of the
train for this duration of journey will be (in km/h) :

Options :

68019155283. 70
68019155284. 30
68019155285. 40

68019155286. 80

Question Number : 34 Question Id : 68019114097 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U XERTIS! [ARTHTTRT H WIRB IR THH RN 80 kon/h 7T BT THA ¢ H
T R Tl ¢ | 8 &1 It RR 1f 90y 3¢ 9 el 71 39 ST d
Tﬂfﬁ P 3fgd i (km/h ﬁf} ehit:

Options:




68019155283. 70
68019155284, 30
68019155285, 40

68019155286. 80

Question Number : 35 Question Id : 68019114098 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A small ball of mass m and density p 1s dropped in a viscous liquid of density Py .
After sometime, the ball falls with constant velocity. The viscous force on the ball
18 :

Options :

68019155287. \

68019155288.

(1 —DD.
68019155289, "&1=PPq )

mg[l + D J
68019155290. 0

Question Number : 35 Question Id : 68019114098 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

m GOUHT @ p UTcd &1 U BICI 3ig p, TIcd o &d | TR Wl 31 & 987y
qYTq Tig fRR 71 T iR @dt 31 e R WH §a &

Options :

68019155287. . P

68019155288.

(1 —DD.
68019155289, "81=PPq )

m_g[l + D J
68019155290. 0

Question Number : 36 Question Id : 68019114099 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The specific heat at constant pressure of a real gas obeying py? = g7 equation is:

Options :

Oy +
68019155291. 2V

68019155292, (v + 1t
68019155293. R

R -
— + E,p,
68019155294, 3



Question Number : 36 Question Id : 68019114099 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U arfde 719 Sl GHIDRU pp2 - gy D1 URH Dl 6. [UR &6 TR 5HD|
fafry 3w &:

Options :

C —
68019155291. 2¥

68019155292, v + 1t

68019155293, R

j o
R [-.-[.z
68019155294, 3

Question Number : 37 Question Id : 68019114100 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sample contains mixture of helium and oxygen gas. The ratio of root mean
square speed of helium and oxygen in the sample. 1s :

Options :

-2

tJ]

68019155295. 1

-2
{'--
2|

68019155296.



I .
[ ]

68019155297. -

1
68019155298. 4

Question Number : 37 Question Id : 68019114100 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
US 9 1 Siicrgd quT SIS 719 &1 %01 5 | 554 giferay Ud SiaieH ol
o H1ed 9Tl Bl 3UT 6:

Options:

I-2

=y

68019155295, 1

-2
'C'--
|

68019155296.

(38 S
-

68019155297.

1
68019155298. 4

Question Number : 38 Question Id : 68019114101 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o 1s the uniform surface charge density of a thin spherical shell of radius R. The
electric field at any point on the surface of the spherical shell is :



Options :

68019155299, F/€,

68019155300. 7/ 20

68019155301, O/€x R

68019155302, 7 /4=,

Question Number : 38 Question Id : 68019114101 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R 01 & U yad T BRI &1 USH9HH Yy 31a% 99d o o1 59 di
B P g8 F [Pl fdg R dega &7 &

Options :
68019155299, F/€,
68019155300, 7/ %<0

68019155301, /xR

68019155302, 7 /4=,

Question Number : 39 Question Id : 68019114102 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Electromagnetic waves travel in a medium with speed of 1.5%10% m s71. The
relative permeability of the medium 1s 2.0. The relative permittivity will be:

Options :

68019155303. 1

| ]

68019155304.

68019155305. 4

L

68019155306.

Question Number : 39 Question Id : 68019114102 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fep it AT H faqgagra® g a¥ 1.5x10% m s~ @1 3G A T Bl & | ATeH
@1 WU BTl 2.0 8, 99 el degagiedl shi:

Options:

68019155303. 1

| ]

68019155304.

68019155305. 4

L

68019155306.

Question Number : 40 Question Id : 68019114103 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The value of unknown resistance (x) for which the potential difference between B
and D will be zero in the arrangement shown. 1s :

Options:

68019155307. 42 £2

68019155308. 6 £2

68019155309. 3 £2

68019155310. 9 £2

Question Number : 40 Question Id : 68019114103 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ﬁﬂ;ﬁ%ﬂﬁﬁggﬁﬁg%ﬁﬁmwﬁwmmﬂxw
HIH &:

1451

Options:

68019155307. 42 £2
68019155308. 6 £2
68019155309. 3 £2

68019155310. 9 £2

Question Number : 41 Question Id : 68019114104 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

While measuring diameter of wire using screw gauge the following readings were
noted. Main scale reading 1s 1 mm and circular scale reading 1s equal to 42
divisions. Pitch of serew gauge 18 1 mm and it has 100 divisions on circular scale.

e ; : X 2
The diameter of the wire 1s < mm- The value of x 15 :
Options:

68019155311. 42

68019155312. 21



68019155313. 71

68019155314, 141

Question Number : 41 Question Id : 68019114104 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UgETdt ¥ dR &1 19 A149d 9599 9 ursaie [&3a-
T YA &1 UIsdid = 1 mm.

7T UHT &1 91801 = 42 YT

WIS BT U 1 mum 8. 7T THH TR HIT-EST 100 €1 TR BTANE — mm B
dd x BIAFT:
Options :

68019155311. 4.2
68019155312. 21

68019155313. 71

68019155314. 141

Question Number : 42 Question Id : 68019114105 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Torque L |[MEIT 247
B. |[Magnetic field IL |[224']
C. |Magnetic moment IL | (M2
D. |Permeability of free space| IV. |[M1L2T2]

Choose the correct answer from the options given below:
Options:

68019155315, A-IV. B-II. C-III. D-I

68019155316, A-I. B-IIL. C-II. D-IV

68019155317, A-IV. B-III. C-II. D-I

68019155318, A-IIL. B-I. C-II. D-IV

Question Number : 42 Question Id : 68019114105 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 7 = 11 9 i &
¥ L 1

A |5 ot L |24
B. [qwiy & I |[z24]

C. |[gra®ig gl 1L | (At 72471
D. |qdd HTHT Bl gadiiaral| IV. (a2
9 & 6l TR -
Options :

68019155315, A-IV. B-1I. C-III. D-I

68019155316. A-L. B-III. C-II. D-IV



68019155317, A-IV. B-III. C-II. D-I

68019155318, A-IIL. B-I. C-II. D-IV

Question Number : 43 Question Id : 68019114106 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An element AJ = Ay} is placed at the origin and carries a large current 7= 10A.

The magnetic field on the y-axis at a distance of 0.5m from the elements Ax of lem
length 15 :

AT™
®
Ao P
0.5m
2 Ny

—»  Ax ¢&—

Options :

68019155319, 4<1073T

68019155320, 8<107°5T

68019155321, 10x1073T

68019155322 12x1073T



Question Number : 43 Question Id : 68019114106 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR Al — Ay] DI UD 3fa0d Hd fo=g IR @1 6 fors URT 10A S8 36! 8
S9H 0.5m D T W y-318f R Y &7 gHT (7 39@):

V
AT

AP

! i N,y

—>» Ay &—
| 1

Options :

68019155319, 4<10°°T

68019155320, 8<1073T

68019155321, 10x1073T

68019155322, 12x1073T

Question Number : 44 Question Id : 68019114107 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
Statement I : In an LCR series circuit, current 1s maxunum at resonance.

Statement IT : Current in a purely resistive circuit can never be less than that in a
series LCR circuit when connected to same voltage source.

In the light of the above statements. choose the correct from the options given
below :

Options :

68019155323. Both Statement I and Statement II are true
68019155324. Both Statement I and Statement II are false
68019155325. Statement I 1s true but Statement I is false

68019155326. Statement I 1s false but Statement II 1s true

Question Number : 44 Question Id : 68019114107 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- gl By feu T §:
®YF I: T LCR JUilag IRUY H 31 TR 4RI HdPdn g1

Y I1: Tt Yeg UicRIy arel uRuy F uRT fdl Ler URuy & yR1Y oA
51 61 U1, AlG I IHH diecs Hid 9 1 8l

SR ford HY= & TIR 9 5 I Fel SR I
Options:
63019155323, Gl PYT I AU HYT T T & |

68019155324, Gl BUA 1 YT HY 11 STA B |

68019155325, PUT 1 H € TR PUF 11 IHA B



68019155326, PUT I 3 & TR~ HY 11 TI ¢

Question Number : 45 Question Id : 68019114108 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To find the spring constant (k) of a spring experimentally. a student commits 2%
positive error in the measurement of time and 1% negative error in measurement
of mass. The percentage error in determining value of k 1s :

Options :

68019155327. 3%
68019155328. 5%
68019155329. 1%

68019155330. 4%

Question Number : 45 Question Id : 68019114108 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AN gR1, 8T 1 8 Fgdiss (k) I1d o3 § ©F 9599 91949 § 2% Y91dD
(¢ B &l 5. U] %o H J1d B H 1% P BITAD A/ PR adl gl kDI
T JTd B3 H a8 fba- WidId $d ¢ Bl o:

Options :

68019155327. 3%

68019155328. 5%



68019155329. 1%

68019155330. 4%

Question Number : 46 Question Id : 68019114109 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following phenomena does not explain by wave nature of light.

A. reflection

B. diffraction

C. photoelectric effect
D. mterference

E. polarization

Choose the most appropriate answer from the options given below:

Options :
68019155331, B. D only
68019155332, A. C only

68019155333, C only

68019155334, E only

Question Number : 46 Question Id : 68019114109 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



719 T &1 Il geH1 YT B a1 Udhid gRI afuld 78l 8idl &:

ﬂfﬁﬁﬁ

Options :

68019155331, POUB. D

68019155332, PAT A, C

68019155333, Pad C

68019155334, hdd E

Question Number : 47 Question Id : 68019114110 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In photoelectric experiment energy of 2.48 eV irradiates a photo sensitive material.
The stopping potential was measured to be 0.5 V. Work function of the photo
sensitive material 1s :

Options :
68019155335, 1.98 eV
68019155336. 1.68 eV

68019155337. 2.48 eV

68019155338. 0.5 eV



Question Number : 47 Question Id : 68019114110 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fordll yrepTeI-faggd W o U UepTRI GUTe! Ua1e WR 2.48 ¢V Tl &1 fafdhum
S{Tafere o STl & | 59 FHY R fava o.5 v =11 721 81 9 gard o1 $rd-
T SN

Options :

68019155335, 1.98 eV
68019155336. 1.68 eV
68019155337. 2.48 eV

68019155338. 0.5 eV

Question Number : 48 Question Id : 68019114111 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The ratio of the shortest wavelength of Balmer series to the shortest wavelength of
Lyman series for hydrogen atom is ;

Options:

[ ]

68019155339. 1 :

| )
—

68019155340.

68019155341.1 : 4

68019155342. 4 : 1



Question Number : 48 Question Id : 68019114111 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

m@mw%@ﬁm%aﬁ%ﬁﬁammﬁﬁﬁ
[ HaT TgeR] BT 3T &

Options :

[ ]

68019155339. 1 :

| ]
—

68019155340.
68019155341.1 : 4

68019155342. 4 : 1

Question Number : 49 Question Id : 68019114112 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct truth table for the following logic circuit 1s :

>0

P B

Options:

68019155343.



A8y

olo]1

0|11

1{o]o

1{1]o
1|B|Y
0fo]1
011
1{0]o0

68019155344. !
4B
0olofo
0|11
1100

68019155345. G i
4] B
0lofo
0|10
1{o]o

68019155346. Lj1)1

Question Number : 49 Question Id : 68019114112 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



f afdben ufvay o forg et arfera! o1 4t &-

>0
A [N
B —_— |
Options :
A Y
0101
01111
110
68019155343. l
AlB|¥
01011
Oj1]1
1{0(0
68019155344. !
Al|lB|¥
010(0
Of1(1
1{0]0
68019155345. & 22N
AlB |1
010]0
0]11]0
1{0]0
68019155346. k| B




Question Number : 50 Question Id : 68019114113 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A bullet of mass 50g 1s fired with a speed 100 m/s on a plywood and emerges with
40 m/s. The percentage loss of kinetic energy is :

Options :

68019155347. 16%
68019155348. 84%
68019155349. 44%

68019155350. 32%

Question Number : 50 Question Id : 68019114113 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

50 9T So0HE B U g5 ! TMTail 100 HI 9! 9§ @ieds W arl &l & Ud
T8 40 1 1 URAIEA el 81 7Tl Sl § Hidwrd 81 ©:

Options :

68019155347. 16%

68019155348. 84%

68019155349. 44%

68019155350. 32%



Physics Section B

SectionId: 680191242
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 680191332
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 68019114114 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The refractive index of prism i1s g =3 and the ratio of the angle of minimum
deviation to the angle of prism 1s one. The value of angle of prism is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 51 Question Id : 68019114114 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e O &1 SUad=ies 4 =3 T Ud gAaH faaem S au fisd & i &1
3T 1 31 fUH Siu &1 JF ° Tl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 52 Question Id : 68019114115 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A particle 13 doing simple harmonic motion of amplitude 0.06 m and time period
3.14 s. The maximum velocity of the particle 1s cm/s.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 52 Question Id : 68019114115 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

0.06 Tt TATH TUT 3.14 VHS Mdd BIA I U HUT I3 3M1dd Iid B2 38T ¢
HU] T By AT pepa e g

Response Type : Numeric




Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 53 Question Id : 68019114116 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

For three vectars 4 = (=xi—67— 2&) : B = (—i+4]+ 3k) and
C= (—8;—_}'—&3;:} Lif A-(BxC)=0. then value of x is
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 53 Question Id : 68019114116 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

AR A= (—xf - 6] -2k). B=(-1+4]+3k) qui ¢ = (~8i-j+3k)%
feualg A-(BxC)=081dxBITA B

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Number : 54 Question Id : 68019114117 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A big drop 1s formed by coalescing 1000 small droplets of water. The ratio of

. . 10 .
surface energy of 1000 droplets to that of energy of big drop 1s —. The value of x
X

18

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 54 Question Id : 68019114117 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

O BT 1000 96 TP TR U G951 96 §dl 51 1000 &1 DI U§ FHoll aul go!
TP 52 B gY ol P o L 81l x BT R

X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 55 Question Id : 68019114118 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

When a de voltage of 100V is applied to an inductor, a de current of 5A flows

through it. When an ac voltage of 200V peak value is connected to inductor, its

inductive reactance 1s found to be 2030 . The power dissipated in the circuit 1s
W.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 55 Question Id : 68019114118 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TP IRP R 100V ¥ faHa T ST € 79 5A Bl faF ¥RT 58l €1 3fe 2007
RRER 7H &1 UAGd! [aHd ST ST 96 RS UiadTd 2030 81dT &1 IRay
¥ wifad e Bl

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 56 Question Id : 68019114119 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the radius of earth is reduced to three-fourth of its present value without change
in its mass then value of duration of the day of earth will be hours 30
minutes.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 56 Question Id : 68019114119 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g2dt & GoduH B AR x@HR afe gue! e diH-1urs &7 i 91e, a9 gad!
P UH & g 30 fie ST

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 57 Question Id : 68019114120 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. . . i 2 . .
A circular coil having 200 turns, 2.5 10~ m? area and carrying 100 pA current 1s
placed in a uniform magnetic field of 1T. Initially the magnetic dipole moment (j7)
was directed along 5 . Amount of work, required to rotate the coil through 90°

from its initial orientation such that jj becomes perpendicularto 3. is

ul.

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 57 Question Id : 68019114120 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1T & UH A DY &7 5 200 B, 2.5<10~* HIZ 475 dUT 100 pA DI
YR ATl U JUIDR Sodil 3@ 1T ¢ | YR § o] sy fgyd 3mgul 57
&3 § & AN 51 59 RIS SR ¥ 00° TR YA & fag, o simguf 57 .
&4 7 & TiEdd gl Y, &d P14 B = I gl

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 58 Question Id : 68019114121 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A wire of resistance R and radius » 1s stretched till 1ts radius became #/2. If new
resistance of the stretched wire 15 x R, then value of x 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Number : 58 Question Id : 68019114121 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

R UfaRiy auT » 5901 &1 U@ dR 59 YR Gl ardl ¢ o9y s9a! &r +2
B1 Ol | aR T =91 Uik &1 x R 81 99 » &1 A 2l

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 59 Question Id : 68019114122 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Three infinitely long charged thin sheets are placed as shown in figure. The

. N : . X0 .
magnitude of electric field at the point P 1s —. The value of x 13 (all
8 E_ SN
(]
quantities are measured i S units).

¥

—F

______ e e s e e
- X 4 /“!’j
r
#
Vi
L

Z_’ ' .III.. =—d ,.I'L'r ={ .1||r = .1:?

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 59 Question Id : 68019114122 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 3 TTaTg 1 SHMaTd Udell 9183 oA & IR 3@l 81 P fag W d3gd

|-{T' e " .
A BITOE — | Tetx ST AM T i siveRa )
=)
1% P =27 3
i
| 4
]
S |
&
/
/"
ps
F
;
4
z’ X=—a X=a X=3a

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 60 Question Id : 68019114123 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Radius of a certain orbit of hydrogen atom is 8.48 A. If energy of electron in this
orbit 1s E/x. thenx =

(Given a,=0.529 A, E = energy of electron in ground state).
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 60 Question Id : 68019114123 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

BIE oo WA Pt {5t e o1 Brour 8.48 A 81 9 sy wen & sage ot
Foll ExBad x= gl
(3T T a,=0.520 A, E = 5ola [ & oI S{ael § AdH FHall) |

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Chemistry Section A
SectionId : 680191243
Section Number : 5

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 680191333
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 61 Question Id : 68019114124 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The density of 'x' M solution ("x' molar) of NaOH is 1.12 g mL ™!, while in
molality, the concentration of the solution 1s 3 m (3 molal). Then x 1s

(Given : Molar mass of NaOH 1s 40 g/mol)
Options :

68019155361. 3.5

68019155362. 3.8

68019155363. 3.0

68019155364 2.8

Question Number : 61 Question Id : 68019114124 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

NaOH & 'x' M (' HITR) fdeid &1 U 1.12 g mL~! § Sfafds Hiciaren 4, faaa=
Pl gigdl 3 m (3 ]:nT’I_CD%I aa’x%:

(e 741 §: NaOH &1 HIeR So0dM: 40 g/mol)

Options :

68019155361. 3.5

68019155362. 3.8

68019155363. 3.0

68019155364. 2.8

Question Number : 62 Question Id : 68019114125 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Molecule / Species)| (Property / Shape)
A |SO,CL 1. |Paramagnetic
B. |NO II. |Diamagnetic
C. INO,™ IT1. | Tetrahedral
D |17 IV. |Linear

Choose the correct answer from the options given below:
Options :

68019155365, A-IIIL. B-IV. C-II. D-I

68019155366, A-IIL. B-I. C-II. D-IV



68019155367, A-IL. B-III. C-I. D-IV

68019155368, A-IV. B-1. C-III. D-II

Question Number : 62 Question Id : 68019114125 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 fHe =l 11 J By
g = 11

SRR | STPT)
A [SOyCL I |srggme

B. [NO IL [Ufdg=®

C. [NO,~ 1L [T D g
Bk V. [3@a
- fau Y fdeedl O 9§ 981 SR 9:
Options :

68019155365, A-IIL. B-IV. C-II. D-I

68019155366, A-III. B-I. C-II. D-IV

68019155367, A-IL. B-III. C-I. D-IV

68019155368, A-IV. B-1. C-III. D-II

Question Number : 63 Question Id : 68019114126 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



At—20 °C and 1 atm pressure. a cylinder 1s filled with equal number of H,, I, and

HI molecules for the reaction
H,(g) + I,(g) = 2HI(g). the K, for the process 1s x x it
X 1

[Given : R =0.082 L atm K~ mol™]
Options:

68019155369. 1
68019155370. 10
68019155371. 0.01

68019155372. 2

Question Number : 63 Question Id : 68019114126 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¥ ftfsbar & fow —20 °c U9 1 atm T W, TP RAfG=SI DI H,. , TdHI &
HULSHT I O H3=A1 § 1R 7T

Hy(g) + Iy(g) = 2HI(g). WA & feUK, x < 107§
e

m a1 %’: R =0.082 L atm K™} 11101_1]

Options :

68019155369. 1

68019155370. 10

68019155371. 0.01



68019155372. 2

Question Number : 64 Question Id : 68019114127 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following material is not a semiconductor.

Options:

68019155373, Copper oxide

68019155374, Graphite

68019155375, Germanium

68019155376. Silicon

Question Number : 64 Question Id : 68019114127 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafafad 3 9 &1 a1 e Us 3ieEas 6l 87

Options :

68019155373, PTIX SHIGILS

68019155374. I B

68019155375, STH H4H

68019155376.



Question Number : 65 Question Id : 68019114128 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A conductivity cell with two electrodes (dark side) are half filled with infinitely
dilute aqueous solution of a weak electrolyte. If volume 1s doubled by adding
more water at constant temperature. the molar conductivity of the cell will -

m

T‘ ” K / ] 1
é % i

| 2
—im—

lem
Options :

68019155377, ncrease sharply

68019155378, decrease sharply

68019155379, remain same or can not be measured accurately

68019155380, depend upon type of electrolyte

Question Number : 65 Question Id : 68019114128 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



<l galdgisl (T heie) Aled U diaied] 9 [dggd Suucd & 3= aJPd
Sl [dea 9 ST WR15S 5 | FER Y W alE 39 S1ga- &l 3R ifUd
o HATHR ST B 601 WY df 9l DI HIeR dTaddr:

+)

f

—lem——
Options:

68019155377. GEIR aé. 1

68019155378, ol I Tl

68019155379, THI IeTil 41 TYIYd: AUl gl ol Tbd! |

68019155380, 1984 30U TR FHR Bl

Question Number : 66 Question Id : 68019114129 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The electron affinity value are negative for

A. Be — Be™
B.N—N"

£ D=y
D.Na— Na~
E. Al — AT

Choose the most appropriate answer from the options given below :

Options :



68019155381, A. B and C only

68019155382, D and E only

68019155383, A and D only

68019155384, . B. D and E only

Question Number : 66 Question Id : 68019114129 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SAdCH S[dl BT I BUNTHSD o

A Be — Be™
B.N—=N"
C.0 — 0%

D.Na— Na~
E. Al - AT

- fau e faedl & 9§ alide Sugad 3R 9:

Options :

68019155381, PAT A, BUd C

68019155382, PO D UG E

68019155383, P90 ATUG D

68019155384, PAT A, B.DUGE



Question Number : 67 Question Id : 68019114130 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I : Gallium is used in the manufacturing of thermometers.

Statement IT : A thermometer containing gallium is useful for measuring the
freezing point (256 K) of brine solution.

In the light of the above statements. choose the correct answer from the options
given below :

Options :

68019155385. Both Statement I and Statement II are true
68019155386. Both Statement I and Statement IT are false
68019155387. Statement I 1s true but Statement I is false

68019155388. Statement I 15 false but Statement IT 1s true

Question Number : 67 Question Id : 68019114130 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIECIERICACLRI 1

HYF 1 : IfeaH o1 Iua yeidier & R g giare

FYF 11 : T0H gad YHTeR &1 ST 9154 fdaa- &1 [gHi® (256 K) A9
%%ﬂ%&ﬂ@ﬂ?ﬂgﬂﬁ

SYgad HYAl & I H 7 3 U fowedi § 9 waiive Iugad Sm 9;

Options :

68019155385, &I PUT 1 UG B IT Hol &



68019155386, &Il PUH 1 Td U II 7107 &

63019155387, PU 1 UEI ¢ TR~g PYUH I 711 ©

68019155388, PU 1 TTCId € URg P 11 T8I ©

Question Number : 68 Question Id : 68019114131 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Compound/Species)| (Shape/Geometry)
A |SEy I. |Tetrahedral
B. |BrE; II. |Pyramadal
C. |BrO;~ III. |See saw
D. |NH," IV. |Bent T-Shape

Choose the correct answer from the options given below:

Options :

68019155389, A-IL. B-IV. C-III. D-I

68019155390, A-III. B-II. C-IV, D-I

68019155391, A-IIL B-IV. C-II. D-I

68019155392, A-IIL. B-III. C-I. D-IV

Question Number : 68 Question Id : 68019114131 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 151 a3 Hi
T = 11

A [SEy I [equraelg

B. BrF; I [fREST

c. [Bro;” 1L [T

D. |NH,~ IV. [gS1 83 T- Bl
A= feu e foe el o 9 9t 3w I
Options:

68019155389, A-II. B-IV. C-III. D-I

68019155390, A-IIL B-II. C-IV. D-I

68019155391, A-IIL. B-IV. C-II. D-I

68019155392, A-IL. B-III. C-I. D-IV

Question Number : 69 Question Id : 68019114132 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of element from the following that do not belong to lanthanoids 1s

Eu. Cm. Er, Tb. Yb and Lu
Options :

68019155393, 5

68019155394. 1



68019155395. 3

68019155396. 4

Question Number : 69 Question Id : 68019114132 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FafeiEd o 9 39 dal &1 9 9l deHITs ol 6:

Eu. Cm. Er. Tb. Yb ¥d Lu

Options :

L

68019155393.

68019155394. 1

68019155395. 3

68019155396. 4

Question Number : 70 Question Id : 68019114133 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII

(Hyvbridization) | (Orientation in Space)

A 3p3 I. |Trigonal bipyramadal
E. dspz II. |Octahedral

C. sp:‘d IIL. | Tetrahedral

D. 5p5d3 IV |Square planar

Choose the correct answer from the options given below:
Options :

68019155397, A-III. B-IV. C-1. D-II

68019155398, A-IIL. B-I. C-IV. D-II

68019155399, A-IV. B-III. C-1. D-II

68019155400, A-IL. B-I. C-IV, D-III

Question Number : 70 Question Id : 68019114133 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gt 1 51 [HaH i I 8 B
A1 I
(HPm) (ﬁfﬁwﬂarﬁrﬁ'—um)
A |sp? L |y GRS
B. |dsp? IL [HPHEaDig
C. |sp3d 1L [IJ8h ™
D sp:‘d: IV. ﬁw
9 feu e fod el O 9§ 981 S I
Options:

68019155397, A-IIL B-IV. C-I. D-II



68019155398, A-III. B-I. C-IV. D-II

68019155399, A-IV. B-III. C-I. D-II

68019155400, A-II. B-I. C-IV. D-III

Question Number : 71 Question Id : 68019114134 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Consider the following complexes
[CoCI(NH;)s]*™. [Co(CN)g]*~, [Co(NH3); (H,0)]° ™, [Cu(H,0)4)*"
(A) (B) (C) (D)

The correct order of A, B. C and D in terms of wavenumber of light absorbed 1s :
Options :

68019155401. D<=A<C<B

68019155402. B<C<A<D

68019155403. C <D <A <B

68019155404. A<C<=B <D

Question Number : 71 Question Id : 68019114134 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafaiad Yol R f[d9R Bifere:

[CoCI(NH;)5]7™. [Co(CN)¢]>~. [Co(NH;)s (H,0)]P™. [Cu(H,0),]*"

(A) (B) (C) (D)
A.B. C U4 D &1 JILNd DI 7T UHTR a7 I &1 Jo! HH o
Options :

68019155401. D=A=C<B

68019155402. B=C<A<D

68019155403. C=D <A<B

68019155404, A<C<=B <D

Question Number : 72 Question Id : 68019114135 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
|(Precipitating reagent and conditions)| (Cation)
A |NH,Cl1+ NH,OH I |Mnd™
B. |NH4OH + Na,CO, IL |pwe™
C. |NH40H + NH,Cl + H55 gas oI |a~
D. |dilute HC1 IV |sr2™

Choose the correct answer from the options given below:
Options :

68019155405, A-III. B-IV. C-II. D-I

68019155406, A-IIL. B-IV. C-I. D-II



68019155407, A-IV. B-1II. C-II. D-I

68019155408, A-IV. B-1II. C-I. D-II

Question Number : 72 Question Id : 68019114135 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 151 a3 Hi
I 1 Gsl

(eraafte s g sifipde Ta amme)| | (WETEE)
A |NH,C1+ NH,0H T a2
B. :\:H_IDH_NE.:CDB II. PIJE_

C. |NH,OH + NH,CI + H,S 719 I A3+

D. [@d HCI IV. [s2*

1 fdu e fad el § 9 98t SR I
Options :

68019155405, A-IIL B-IV. C-II. D-I

68019155406, A-IIL. B-IV. C-I. D-II

68019155407, A-IV. B-1II. C-II. D-I

68019155408, A-IV. B-1II. C-I. D-II

Question Number : 73 Question Id : 68019114136 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are correct?

A. Glycerol 18 puritied by vacuum distillation because it decomposes at its
normal boiling point.

B. Aniline can be purified by steam distillation as aniline 1s miscible in water.

C. Ethanol can be separated from ethanol water mixture by azeotropic
distillation because it forms azeotrope.

D. An organic compound is pure. if mixed M.P. 1s remained same.

Choose the most appropriate answer from the options given below :

Options :

68019155409, A. B. C only

68019155410, A. B. D only

68019155411, A. C. D only

68019155412, B. C. D only

Question Number : 73 Question Id : 68019114136 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafeRad # 9 &1 J oY= Fel 8

A. TerRTa o1 2ty fAafd emga & g1 fovan Sirar § it ug org- 9re
HYH R ATUled & ol gl

B.W?WW%WWWWW%@%WWﬁ
Heuiig g

C. UUHTe &1 UUHTT-STa (yor 9 R &1t 6+ gRI 9US foar & Jaodl
¢t qUife g RR ol s g

D. Pl PIaD D Y § dle MBS M.P. TS GHH ¢

-itd faw ¢ fasedi & 4 Halite Suge IR IH:

Options :

68019155409, PAT A, B. C



68019155410, POT A, B. D
68019155411, POT A, C. D

68019155412, PAAB. C.D

Question Number : 74 Question Id : 68019114137 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s metamer of the given compound (X)?

0

O Ea®,
O »—NH-C
(X}

Options :

O
Ot
NH-C
68019155413.
O
OO
NH-C
68019155414.

O
@1
68019155415.
e {2
68019155416.



Question Number : 74 Question Id : 68019114137 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fAafaiad § O @F 3 70 9if® (X) &1 391904 82

O
{0 ) m._y@
(X)

Options :

O
Ot
NH-C
68019155413.
O
OO
NH-C
68019155414.

O
@)
68019155415.
68019155416.

Question Number : 75 Question Id : 68019114138 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Functional group present in sulphonic acids 1s :

Options :

68019155417, — 20>



68019155418, — SO4H

68019155419, — SOsH

-~ §-OH

68019155420. O

Question Number : 75 Question Id : 68019114138 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Tenife ona! § 3uiyd firarers 9 &
Options :

68019155417, — 30>

68019155418, — SO4H

68019155419, — SO3H

~-S-0OH

68019155420. O

Question Number : 76 Question Id : 68019114139 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
{(Compound) (Uses)
A |lodoform I |Fire extinguisher
B. |Carbon tetrachlonde| II. |Insecticide
C. |CEC ITI. |Antiseptic
D. |DDT IV. |Refrigerants

Choose the correct answer from the options given below:
Options :

68019155421, A-IL. B-IV. C-I. D-III

68019155422, A-IIL B-II. C-IV. D-I

68019155423, A-III. B-I. C-IV. D-II

68019155424, A-I. B-II. C-III. D-IV

Question Number : 76 Question Id : 68019114139 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 191 [HaH gt I 3 B
T g
@) (LRI
A |TEEH 1 |3 e
B. [®TeH gl wiNIg S| IL [SHiemEi
c |cre 1. [gfeRie (déaiv®)
D. |DDT V. |uefide
- fau Y fd@ el O 9 981 3R 9:
Options :

68019155421, A-IL. B-IV. C-I. D-III



68019155422, A-III. B-II. C-IV, D-I

68019155423, A-IIL. B-I. C-IV. D-II

68019155424, A-L. B-II. C-III. D-IV

Question Number : 77 Question Id : 68019114140 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I : Piciric acid 1s 2.4.6 - trinitrotoluene.

Statement IT : Phenol - 2.4 - disulphonic acid 1s treated with Conc. HNO; to get

picric acid.

In the light of the above statements. choose the most appropriate answer from the
options given below :

Options:
68019155425. Both Statement I and Statement II are correct
68019155426. Both Statement I and Statement II are incorrect

68019155427. Statement I 1s correct but Statement II 1s mcorrect

68019155428. Statement I 1s incorrect but Statement II 1s correct

Question Number : 77 Question Id : 68019114140 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

-9 & By [SU U
HYF 1 : [UIhP 3T 2.4.6- TIAISCICE B
YT : B - 2.4 - SISHPIHP 3K B [Gb01 Wik HNO, & H1Y B

R fUfehes 3 W Bicll 6|
SUdad HYH & FaH T A U U [deedl & 9 9aiiee I9gad S I

Options :

68019155425, &Il U 1 UG B IT Hol &

68019155426, &I PUH 1 Td U IT 07 &

68019155427, PUT 1 ! § TRg HUH 11 7TeTd §

68019155428, PUT 1710 § TR HY 11 el §

Question Number : 78 Question Id : 68019114141 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Reimer - Tiemann reaction. phenol is converted into salicylaldehyde through an
intermediate. The structure of intermediate 1s

Options :

OH
CHCl,

68019155429.
UN:i'
CHIO

68019155430.



aNa
CH,

68019155431.

63@'
CHICl,

68019155432.

Question Number : 78 Question Id : 68019114141 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

MR- sifiiferar ¥ wiHTa o1 Ifedfcgegs o uliad- ue geaadi 9 glax
Eﬁﬁ'% ﬂ%ﬂﬂ'cﬁﬁmﬁ'

Options:
OH
CHCl,
68019155429.
ONa'
CHO
68019155430.
ONa
CH,
68019155431.

68019155432.



i’:‘!}Ja !
CHCl,

Question Number : 79 Question Id : 68019114142 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following aldehydes 1s most reactive towards nucleophilic
addition reactions?

Options :
0
|

68019155433. H - C - H

O

68019155434, CH3 ~C —H

0
|

68019155435, C2Hs = C—H

—_—

-,

68019155436, C3H7 —C —H

Question Number : 79 Question Id : 68019114142 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafad 3 9 o a1 ufesens A1ye el amas sitfdars & ufa
gaitie foeareia g2

Options :
0
|

68019155433. H - C - H

O

68019155434, CH3 ~C —H

0
|

68019155435, CoHs = C —H

T'
- C -H

68019155436, C3H7

Question Number : 80 Question Id : 68019114143 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DNA molecule contains 4 bases whose structure are shown below. One of the
structures 1s not correct. identify the incorrect base structure.

Options :

NH,
I-|
NN N
Tc I |
NN_-C N"’j{ H
68019155437. H

68019155438.



II-L-—#. I |
e i
TSN
NH,
[
Hh'f{“‘“x‘“r'
HC~_ N~ &
68019155439. §

0

HyC O
I |,
HC H’l\'./( "‘b‘-“(_}
68019155440. H

Question Number : 80 Question Id : 68019114143 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DNA Srrqﬁ 4 &R UTU STd & Forep! Sg-Td -1|t+d°l TR T
U TRE-1 7T & | 7Td &8RP &1 Ia-1 ®1 9

Options :

68019155437. H

0
I

N S
H,C—C I I_
SNLACC )
68019155438. I NE "N,

68019155439.



NH,
I

He~ SN
[ §
H

HyC— =" NI
| L,

68019155440, H
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Question Number : 81 Question Id : 68019114144 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Frequency of the de-Broglie wave of electron in Bolu's first orbit of hydrogen

atom 1s « 1013 Hz (nearest integer).

[Given : Ry (Rydberg constant) = 2.18 x 10781 1 (Plank's
constant) = 6.6 = 10734 Is.]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 81 Question Id : 68019114144 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

B3I URHIY & &R YUH H&fl H soide i & [S-g1dl axi i 31ald o:
« 1013 Hz (Fedn guife o)

[fean T 8: Ry (Rewl RRRI®) = 2.18 « 10718 1, h (@i

[RRI®) = 6.6 « 1073 1.5.]

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 82 Question Id : 68019114145 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Number of molecules from the following which can exhibit hydrogen bonding 1s
. (nearest integer)

CH;0H, H,0. C,H;. CgHsg. @( b . HF. NH;
OH

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 82 Question Id : 68019114145 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

frafaiad O O 3 supsfl B Hw@ Sl s1gg o Sa=H HaiRid $R 9d o-

CH;0OH. H,0. C,H;. CgHsg. @( _ . HF. NH,
OH

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 83 Question Id : 68019114146 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An ideal gas, C, = SR, is expanded adiabatically against a constant pressure of 1
2 5 y ag

atm untill it doubles in volume. If the initial temperature and pressure 1s 298 K and
5 atm, respectively then the final temperature 1s K (nearest integer).

[C, 1s the molar heat capacity at constant volume]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 83 Question Id : 68019114146 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et aime=i 719, ¢, =§ R. @11 atm P QR 6 & (005 TG YRV e

SIIdl § O a0 [ SHDBT ST aRIAT ol 81 oldl af¢ WRIF® a9 Ud a9
P 208 K UG 5 atm © af JHfdH a9 B K (Favead guife )

[c, TR 3mgds IR HieR 37 YT 8]

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 84 Question Id : 68019114147 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Consider the dissociation of the weak acid HX as given below

=

HX (aq) = H' (aq) + X (aq),Ka=1.2 x 107
[K, : dissociation constant]

The osmotic pressure of 0.03 M aqueous solution of HX at 300 K 1s
<107 bar (nearest integer).

[Given : R =0.083 L bar mol™! K]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 84 Question Id : 68019114147 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

-9 fau U gea e BX & fagieH R faR &%

'y

HX (aq) = H (aq) + X (aq), Ka=1.2 x 10

K, : fagie RRRi®)

300 K IRHX & 0.03 M Seil faera &1 IR 474 ¢: <107 bar
(Fropeam quie H).

m AT 8: R = 0.083 L bar mol™ K

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



Question Number : 85 Question Id : 68019114148 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Time required for 99.9% completion of a first order reaction is times
the time required for completion of 90% reaction.(nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 85 Question Id : 68019114148 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fardil wyd ife BT ififerar 3 99.9% goiar § o 30 SfAfear ot 0%
quiar & @ T & AT RIS

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 86 Question Id : 68019114149 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Among CrO, Cr,05 and CrO;, the sum of spin-only magnetic moment values of

basic and amphoteric oxides is 1072 BM (nearest integer).
(Given atomic number of Cr 1s 24)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 86 Question Id : 68019114149 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Cr0, Cr,0; U4 CrO; T ¥ &R1T ud Ivmyw] 3fauigs| & Yahul 4 JEH 1
Ui AFIPIaNTs 1072 BM (Mdead guiie H),

(AT T 8: Cr 1 WRA] HHID 24 §)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 87 Question Id : 68019114150 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The difference in the 'spin-only' magnetic moment values of KMnO, and the
manganese product formed during titration of KMnO, agamst oxalic acid in acidic
medium 1s BM. (nearest integer)



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 87 Question Id : 68019114150 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

KMnO, 37 310 A1ead § KMnO,, Td SaUfie o & AT & aRH
fAfHd TS & Id1E & =l T S g 310l 0 P 3R 8

_ BM. (Foead gurie H)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 88 Question Id : 68019114151 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The major product of the following reaction 1s P.
(1) Na'lig. NIz

(11) dil. KM g
213K

EHE =6 —CH, P’

Number of oxygen atoms present in product P’ is
(nearest integer)

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 88 Question Id : 68019114151 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

frafefad sififear ¥ g Sag P |

(i) Natig. NH3 _

{11) dil. KMmy
213K

CH;C = C - CH;y 'P'

Sdre P H ffRfoH wRATe @1 e g .
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 89 Question Id : 68019114152 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The major products from the following reaction sequence are product A and
product B.

B < (1) By (1) By K
(i) ale. KOH (3 eq) i) =" 0 "Na T (L08g)

The total sum of & electrons in product A and product B are
(nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 89 Question Id : 68019114152 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

frafafaa siiforar sa d Afd g Sdle- 3dE A Ud SAE B §

B @Bo () Bry il
* (i) ale. KOH (3 eq.) G =7 DONGT 0

JdIE A UG 341G B T 7 -STa~ &1 oot W18
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 90 Question Id : 68019114153 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

9.3 g of pure aniline upon diazotisation followed by coupling with phenol gives an
orange dye. The mass of orange dye produced (assume 100% yield/conversion) is
g. (nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 90 Question Id : 68019114153 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

0.3 g G Ui SISUGIEIHRUN & FURI BiHId & Y G HH W ID
R I &l &) IcIfed AR 397 &1 GouH & (1T 100% Jde
Elﬁ_d?h). g.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



